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= ijee ™S85 ieep= ™§
A ECM =3 TH ECM Q1=
=4 A SH(HRDE) s+ EREG) =2 FTRAE SH(HERTHR) ERE0%)
1 NHEXSH 1,180,592 3 4845 1 NHETZS R 849,200 3485
2 SZEREH 705,533 4 2895 2 SIRERSH 380,243 15.97
3 o= 155,686 2 6.39 3 e=a 276,244 1134
4 AR SER; 111,758 4 459 4 MBI EER 261,245 10.72
5 A= 80,000 1 3.28 5 KBERS R 189,825 779
6 = 46,603 2 191 6 SILIESEX 167,315 6.87
7 O|HA~EERZ=H 39,993 3 164 7 asA 87,551 3.59
8 KEETIZ=H 32,850 2 135 8 ] 46,603 191
9 STEEH 30,000 1 123 9 O[HZESASH 27,257 112
10 =] 16,800 1 0.69 10 fUSA 18,000 0.74
11 HMCERIS R 15,000 1 0.62 SISEREE 17,815 0.72
12 SIO|ERER 9,200 1 0.38 12 =] 17,525 072
13 SILI2SERH 9,170 il 038 13 71254 16,800 0.69
14 BKERSH 3,500 1 0.14 14 HMCERIZR 15,000 0.62
15 EREZ 12,344 051
15 A= 12,344 051
16 SO ERER 9,200 038
17 KTEERIS 3 7,551 031
LIGETSE 7,000 0.29
19 BKERIZR 3,500 0.14
20 SOEtEH 2,790 011
21 mi=E== 2,340 0.10
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w= $64 Aad" $68 P= Asd"

18 SNAPO) =2 19 SMAPO) AU
=59 FEAM SUMEAH) U+ ERFEH =59 ST SUMIE) Hdx BREC
3 EE=E=] 155,686 2 3066 1 HesA 118,099 2 2326
2 HaZ=3 20,000 1 1575 2 DS 87,551 2 1724
3 NHERISH 75,512 1 1487 3 NHEXISZ 60,410 1 1190
4 SEERSH 59,733 2 1176 - SHEERNSH 59,733 2 1176
5 MBI ZER} 33,750 2 6.65 5 KBERIZSH 31,680 2 5.24
6 KBERS A 32,250 2 647 6 =S 31,603 i 6.22
7 HOSH 31,603 1 6.22 7 HEFERET 29,790 . 587
8 Jle=3 16,800 I 331 8 I=EH 16,800 2 331
a SH0|ERSH 9,200 1 181 g SEERSH 12,300 3 254
10 SILIZSER} 9,170 1 181 10 EBEg 12,344 1 243
11 BKERZ=H 3,500 1 0.69 10 AESH 12344 1 243
11 SO ERS R 9,200 ¥ 181
12 SILI2E2ER 9170 1 181
13 KTEERIS 7,551 i 149
14 BKERS A 3,500 1 069
15 SolEtS 3 2,790 1 055
16 mi=E= 2340 3 046




3= $6a Aas" ith » L=

7| U EHAPO) HEZH FUSA FH

=9 FEA Soumoty)  Hs HIEM® =9 FEA Somne) A BREM®
1 oesa 155,686 2 3066 1 NHEXSE 1,105,020 z 59.13
2 ASH 20,000 1 1575 2 SREXNEH 645,200 2 34.36
3 NHERZSH 75,512 1 1487 3 HEFEETL 78,008 - 417
4 HZERSY 59,733 2 1176 4 O AEERSH 39,902 2 214
5 MBS EET} 33,750 2 6.65
6 KBERISZ 32,350 2 6.47
7 = 31,603 1 6.22
& Flesa 16,300 1 331
9 SIO|EREH 9,200 1 181

10 SILEEER 9,170 1 181

11 BKETEH 3,500 1 0.69
O=lih ith RE&

2Y4TR A RY4EX BRTM

=9 TN SO A FRE(H &9 A SoEne) He HRESE
1 NHERZH 788,790 2 4221 1 NHEXZH 44723 1 90.00
2 HZEXSH 329,510 2 1763 2 HEZH 4970 1 10.00
3 MBS SET} 231455 3 1228
4 KBERISA 158,145 1 2.46
4 E=E T 158,145 1 8.46
4 SLESER 158,145 1 8.46
e OH=ERERSH 27,257 3 146
6 sz 12,525 2 067
7 SEERSH 4,915 1 0.26




= ih O “E%hXp= % ™™
RUST OEFE FMAASHUELS) T
=¢ FEA FuETE) HE EREM) = FEA TuETE) A ERE®)
1 NHERISH 1,105,080 2 59.13 1 RUSH 30,000 1 50.00
2 FZERSH 645,200 2 3456 2 HMCEAS A 15,000 1 25.00
3 MBI EET} 78,002 2 417 2 B[ E= 15,000 1 25.00
4 O AEERZH 30,092 3 214
N= "E%hX T “E%he fO" ™
FAHASH(ELR) 2= FAHASHELR) HEFS
=¢ FEM TUENE) U EHSM) =9 FEA TouEne) A BREM%)
Susy 18,000 1 30.00 1 |IEH 30,000 4 50.00
2 HMCEXEH 15,000 1 2500 2 HMCERE A 15,000 1 25.00
2 == 15,000 1 25.00 2 HYS 15,000 1 25.00
3 LGRS 7,000 1 1167
4 Se=y 5,000 1 833
w=1° Xe\” “ o 1 Xe\” p= ~
HFATHLMTHEW) T2 RESEE T R
=4 Z=TEA TUEEIE) A+ EBRE) =4 Z=ZhAE TUEIE) - BRE
1 ens=y 30,000 1 50.00 1 SuZA 18,000 1 20,00
2 HMCEXEH 15,000 1 25.00 2 HMCERRSH 15,000 1 25.00
2 HIE=H 15,000 1 2500 2 OIS 15,000 1 25.00
3 LUGEREE 7,000 1 1167
4 =Y 5,000 x 832
a= 1 X\ 05
HUFEUSH AT (BW) (D
= =oAL SHHENHE) dx EBREH)
1 |U=A 30,000 ik 50.00
2 HMCERS A 15,000 1 25.00
2 HHSH 15,000 1 25.00
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